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Multiplication (Vertical) Name:
Solve each problem. Answers
1 42 2) 21 3) 76 4) 51
x 49 x 71 x 92 x 28 -
2.
3.
4.
5) 33 6) 23 7) 93 8) 47
5.
x 27 x 43 x 72 X 89
6.
7.
8.
9 66 10) 21 11) 41 12) 66
9.
X 39 X 76 x 11 X 84
10.
11.
12.
13) 68 14) 24 15) 54 16) 36
13.
X 86 x 27 x 83 x 18
14.
15.
16.
17) 19 18) 91 19) 66 20) 81
17.
x 14 X 41 x 91 X 81
18.
19.
20.
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
42 21 76 51 . 2058
X 49 X 71 x 92 X 28
378 21 152 408 , 1491
+1,680 +1,470 +56,840 +1,020
2 058 1,491 6.992 1,428 3 __ 6992
. 1428
5) 6) 7) 8)
33 23 93 47 ) 201
x 27 x 43 x 72 X 89
231 69 186 423 . 989
+ 660 +920 +6,510 + 3,760
891 989 6.696 4183 7. 6,696
8 4,183
9 10 11 12
) 66 ) 21 ) 41 ) 66 . 2574
x 39 X 76 x 11 X 84
594 126 41 264 o 1596
+1,980 +1,470 +410 + 5,280
2 574 1,596 451 5 544 491
12. 5,544
13 14 15 16
) 68 ) 24 ) 54 ) 36 s 5848
X 86 x 27 x 83 x 18
408 168 162 288 w 648
+ 5,440 + 480 +4,320 + 360
5 848 648 4.482 648 15 4,482
17 18 19 20
) 19 ) 91 ) 66 ) 81 . 266
x 14 X 41 x 91 X 81
76 91 66 81 18. 3,731
+190 +3.640 +5,940 + 6,480
266 3.731 6.006 6.561 0. 6,006
20 6,501
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